(Ariana, Alex, Maisie and Sam)
Here are some word problems. Can you recognise if you need to multiply or divide to solve them?

Use the spaces / your books to solve them using an effective written method of multiplication or division.






























































Books cost £13 each.  Mr Hughes bought 29 of them for his class. How much did he pay altogether?








Master Brew has 1,241 packets of sugar.  He puts 7 packets in each sugar bowl.  How many bowls does he fill?





How many mini-buses were needed to carry 1,536 people when the mini-bus hold 8 people each?








The Headteacher brings in 2,479 sweets.  The children are given 6 each.  How many children did the headteacher share them between and how many sweets were left over?























